OEVIFEADEENS 8 1H 201945 A 12 H
DEVEYADT TT,
A BHIL, RIBEIMFED 7 Z 7 % R ET SR RIELI20E2 527206, 7797085 CTCHEMIZE Y b~

v T EILCTERT DL XR=U YA R TE Y b~y TORE S 2B X LHFDRIZMOHIA A TH
FLiz, HEid, GUI z2fE-> T, FHREZ L INORETE XL ENET,

& Spyder (Python 3.7) - O X

IrilA) BEE ®BEQ V-AQ =FTR F/OID IWV-MO TOVIZNR) Y-MD  F=RW ALTH)
0 = o [(= =

DEDLXES PIBEDRG MEEEnE BX £ € onim s 4
TT-r4 - D¥Pythonsre¥ryukeixl2db py B x A7 F x
[lsspy(]  dosouuipy 1]  readborZxlpy ]  borrecordutilpy (0] readbor2dbpy [[]  waterleveldatscheckpy [ alltsblerowdelstepy ] rokeixl2dbpyx [ 400 g8 V-4 |20 - 3‘7“)19?‘ ("I - §

114 ~ s

115 def ryukeikasekiDraw():

116 =

117 try:

118

119 con = sqlite3.connect("geodsta.db3",isolation_level="EXCLUSIVE' IF <55

128 cur=con.execute("select distinct THE,THERS from HEHEE_EAHINE order by BIEFE") AR

121 soudata = cur.fetchall() . _,

122 V=TI .

123 Ad_tate_x=(150/25.4)*1.25 = s

124 A4_tate_y=(247/25.4)%1.25 ANF L ERITAR ITANIIR

125 A4_yoka_x=(247/25.4)*1.25 TPython T — b 8 x

126 A4_yoko_y=(158/25.4)%1.25 -

127 A3_yoko_x=(368/25.4)%1.25 0o - A LY

128 A3_yoko_y=(247/25.4)*1.25 o] -

129 tate=3 F T T

138 yoko=3 0001 001 al

131 graph_per_page=tate®yoko

132 S

133 100 =

134 split_soudata = [soudsta[idx:idx + graph_per_page] for idx in range(@,len(socudata), graph_per_page)] 0 B

135

a0

136 for i,tmp_soudata in enumerate(split_soudata): -

137 fig = plt.figure(figsize=(A3_yoko_x,A3_yoko_y)) o

138 for sou_no,soutap in enumerate(tmp_soudata):

139 =

148 sou = list(soutap) ) ) ) A

141 sql = "select (B, FHIES from FFHER ST where 1EE= 1 and 1HELS= ? order by SAHES" 30

142 cur=con.execute(sql, (sou[@],sou[1])) 20

143 sou2=cur.fetchall() o

144 °

145 regend_lines=[] T T

146 for j,soutap in enumerate(soul): et oo o

147 soud = list(soutap)

148 sql2="select $E,/T—fZh from gHIET -5 FIIENDFE where FHFHEE="+str(sou3[0]) In [13]: runfile('D:/Pythonsrc/

149 cur=con.execute(sql2) ryukeixl2db.py’, wdir="D:/

156 sousou=cur.fetchall() Pythonsrc')

151 arr = np.asarray(sousou)

12 ar=arr.T 1R E(As1)

153 dl = ar[@:2,:] 100

154 dl=d1[:,np.all{dl!=None, axis=@)] 0

155 x1=sorted(d1[@])

156 yl=sorted(d1[1]} &0

157 o

158 regend_lines=partgraph(xl1,yl,tate,yoko,sou_no+l,sou[@]+ ("+sou[1]+")",sou3[1],fig,j,len(sou2),regend_lines) 60

159 50

168 a0 v

161 fig.savefig("ryukei_"+str(i+1)+".png",bbox_inches="tight', pad_inches=8,dpi=268) < N

162 .

163 except Exception as e: v | IPythondi =)l LA HInS
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